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ECONOMICS

Maximum Marks : 50

Note : Each question carrying 2 marks.

Q. 1. The Phillips curve shows the relationship

between which two economic variables ?

(a) Unemployment and GDP

(b) Inflation and GDP

(c) Inflation and Interest rate

(d) Inflation and Unemployment

efHeâefuehme Je›eâ efkeâve oes DeeefLe&keâ ÛejeW kesâ yeerÛe keâe mecyevOe

efoKeelee nw ?

(De) yesjespeieejer SJeb mekeâue Iejsuet Glheeo

(ye) cegõemHeâerefle SJeb mekeâue Iejsuet Glheeo

(me) cegõemHeâerefle SJeb yÙeepe oj

(o) cegõemHeâerefle SJeb yesjespeieejer
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Q. 2. The Giffen good phenomenon violates which

fundamental law of consumer theory ?

(a) Law of diminishing marginal utility

(b) Law of demand

(c) Law of equi-marginal utility

(d) Law of variable proportions

efieef]Heâve Jemleg keâer heefjIešvee GheYeesòeâe efmeæevle kesâ efkeâme ceewefuekeâ

efveÙece keâe GuuebIeve keâjlee nw ?

(De) meerceevle GheÙeesefielee Üeme efveÙece

(ye) ceebie keâe efveÙece

(me) mece-meerceevle GheÙeesefielee keâe efveÙece

(o) heefjJele&veMeerue DevegheeleeW keâe efveÙece

Q. 3. Which oligopoly model best explains the concept

of price rigidity, where prices in the market

remain stable despite changes in production

costs or demand ?

(a) Cournot model

(b) Stackelberg model

(c) Kinked demand curve model

(d) Bertrand model
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DeuheeefOekeâej kesâ efkeâme cee@[ue Éeje keâercele efmLejlee keâer Iešvee

keâes meyemes DeÛÚs lejerkesâ mes mecePeeÙee ieÙee nw efpemeceW Glheeove

ueeiele Ùee ceebie ceW yeoueeJe kesâ yeeJepeto yeepeej ceW keâerceleW efmLej

jnleer nQ ?

(De) ketâjvees cee@[ue

(ye) mšwkeâueyeie& cee@[ue

(me) cegÌ[er ngF& ceebie Je›eâ cee@[ue

(o) yejš^sC[ cee@[ue

Q. 4. The Schumpeterian theory of business cycle is

based on :

(a) Innovations and technological advancements

(b) Changes in government taxation

(c) Changes in international trade policies

(d) Fluctuations in interest rate

Megcheeršj keâe JÙeeheej Ûe›eâ keâe efmeæevle DeeOeeefjle nw :

(De) veJeeÛeej SJeb ØeewÅeesefiekeâer Øeieefle

(ye) mejkeâejer keâjeOeeve ceW yeoueeJe

(me) Devleje&°^erÙe JÙeeheej veerefleÙeeW ceW yeoueeJe

(o) yÙeepe ojeW ceW Gleej-ÛeÌ{eJe

Q. 5. In which sector is disguised unemployment most

common in India ?

(a) Manufacturing

(b) Agriculture

(c) Information technology

(d) Services

Yeejle ceW efkeâme #es$e ceW ØeÚvve yesjespeieejer meyemes pÙeeoe nw ?

(De) efvecee&Ce

(ye) ke=âef<e

(me) metÛevee ØeewÅeesefiekeâer

(o) mesJeeSb

Q. 6. According to Malthusian theory, population tends

to increase in a _______ progression, while food

supply increases in a _______ progression.

(a) Linear, Geometric

(b) Exponential, Linear

(c) Arithmetic, Geometric

(d) Geometric, Arithmetic

ceeuLeme kesâ efmeæevle kesâ Devegmeej, pevemebKÙee .......... ›eâce ceW

yeÌ{leer nw, peyeefkeâ KeeÅe Deehetefle& .......... ›eâce ceW yeÌ{leer nw~
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(De) jwefKekeâ, pÙeeefceleerÙe

(ye) iegCeelcekeâ, jwefKekeâ

(me) DebkeâieefCeleerÙe, pÙeeefceleerÙe

(o) pÙeeefceleerÙe, DebkeâieefCeleerÙe

Q. 7. Public Goods are :

(a) Excludable and rivalrous

(b) Non-excludable and rivalrous

(c) Excludable and non-rivalrous

(d) Non-excludable and non-rivalrous

meeJe&peefvekeâ JemlegSb nesleer nQ :

(De) yeefn<ke=âle Deewj ØeefleÉbÉer

(ye) iewj-yeefn<ke=âle Deewj ØeefleÉbÉer

(me) yeefn<ke=âle Deewj iewj-ØeefleÉbÉer

(o) iewj-yeefn<ke=âle Deewj iewj-ØeefleÉbÉer

Q. 8. According to the Heckscher-Ohlin theory, the

primary reason for international trade is :

(a) Differences in labour productivity

(b) Differences in factor endowments

(c) Comparative cost differences

(d) Government policies

nskeämÛej-Deesnefueve efmeæevle kesâ Devegmeej, Devleje&°^erÙe JÙeeheej

keâe cegKÙe keâejCe nw :

(De) ßece Glheeokeâlee ceW efYevvelee

(ye) keâejkeâ ØeÛegjlee ceW efYevvelee

(me) meehes#e ueeieleeW ceW Devlej

(o) mejkeâejer veerefleÙeeB

Q. 9. In the Harrod-Domar model, what does the

warranted growth rate represent ?

(a) The actual rate at which the economy is

growing

(b) The maximum possible growth rate given

labor and capital

(c) The growth rate needed to maintain full

employment

(d) The growth rate required to prevent inflation

nwjes[-[escej cee@[ue ceW DeYeer° Ùee DeeJeMÙekeâ mebJe=efæ oj efkeâmes

oMee&leer nw :

(De) JeemleJe ceW efpeme oj mes DeLe&JÙeJemLee yeÌ{ jner nw

(ye) ßece SJeb hetbpeer kesâ efoS nesves hej DeefOekeâlece mebYeJe Je=efæ oj

(me) hetCe& jespeieej yeveeS jKeves kesâ efueS DeeJeMÙekeâ Je=efæ oj

(o) cegõe-mHeâerefle keâes jeskeâves kesâ efueS DeeJeMÙekeâ Je=efæ oj
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Q. 10. In a perfectly symmetrical distribution, which of

the following is true about the mean, median and

mode ?

(a) Mean > Median > Mode

(b) Mean = Median = Mode

(c) Mean < Median < Mode

(d) There is no relationship

Skeâ hetCe&leÙee meceefcele efJelejCe ceW, meceevlej ceeOÙe, ceeefOÙekeâe

Deewj yenguekeâ kesâ yeejs ceW efvecveefueefKele ceW mes keâewve mee keâLeve

mener nw ?

(De) meceevlej ceeOÙe > ceeefOÙekeâe > yenguekeâ

(ye) meceevlej ceeOÙe = ceeefOÙekeâ = yenguekeâ

(me) meceevlej ceeOÙe < ceeefOÙekeâe < yenguekeâ

(o) keâesF& mecyevOe veneR nw

Q. 11. What is the primary goal of research ?

(a) To fulfill academic requirements

(b) To discover new knowledge and insights

(c) To follow others work

(d) To gather data

DevegmebOeeve keâe cegKÙe GösMÙe keäÙee nw ?

(De) Mew#eefCekeâ DeeJeMÙekeâleeDeeW keâes hetje keâjvee

(ye) veS %eeve SJeb DebleÂ&ef° keâer Keespe keâjvee

(me) otmejeW kesâ keâeÙeeX keâe DevegmejCe keâjvee

(o) DeeBkeâÌ[s Skeâ$e keâjvee

Q. 12. Hypothesis testing is the main concept of which

type of research ?

(a) Descriptive research

(b) Experimental research

(c) Qualitative research

(d) Exploratory research

heefjkeâuhevee hejer#eCe cegKÙe ™he mes efkeâme Øekeâej kesâ DevegmebOeeve

mes mecyeefvOele nw ?

(De) JeCe&veelcekeâ DevegmebOeeve

(ye) ØeeÙeesefiekeâ DevegmebOeeve

(me) iegCeelcekeâ DevegmebOeeve

(o) DevJes<eCeelcekeâ DevegmebOeeve

Q. 13. Which organization publishes the Human

Development Index ?

(a) United Nation Environment Programme
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(b) United Nation Development Programme

(c) International Development Association

(d) International Bank for reconstruction and

development

ceeveJe efJekeâeme metÛekeâebkeâ (HDI) efkeâme mebie"ve Éeje ØekeâeefMele

efkeâÙee peelee nw ?

(De) mebÙegòeâ je°^ heÙee&JejCe keâeÙe&›eâce

(ye) mebÙegòeâ je°^ efJekeâeme keâeÙe&›eâce

(me) Devleje&°^erÙe efJekeâeme mebIe

(o) Devleje&°^erÙe hegvee|vecee&Ce SJeb efJekeâeme yeQkeâ

Q. 14. In which of the following taxes, both impact and

incidence lie on the same person ?

(a) Sales tax

(b) Excise duty

(c) Income tax

(d) Custom duty

efvecveefueefKele ceW mes efkeâme keâj keâe keâjeIeele Deewj keâjeheele Skeâ

ner JÙeefòeâ hej heÌ[lee nw :

(De) efye›eâer keâj

(ye) Glheeo Megukeâ

(me) DeeÙekeâj

(o) meercee Megukeâ

Q. 15. Which of the following is not an instrument of

fiscal policy ?

(a) Government spending

(b) Taxation

(c) Interest rates

(d) Public debt

efvecveefueefKele ceW mes keâewve jepekeâes<eerÙe veerefle keâe meeOeve veneR

nw ?

(De) mejkeâejer JÙeÙe

(ye) keâjeOeeve

(me) yÙeepe ojW

(o) meeJe&peefvekeâ $e+Ce

Q. 16. What is the final stage in Rostow's model of

economic growth ?

(a) Drive to maturity

(b) Preconditions for take off

(c) Traditional society

(d) Age of high mass consumption
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jesmšesJe kesâ DeeefLe&keâ mebJe=efæ cee@[ue keâer Debeflece DeJemLee keäÙee nw ?

(De) heefjhekeäJelee keâer Deesj De«emej

(ye) DeelcemHetâefle& mes hetJe& keâer DeJemLee

(me) hejchejeiele meceepe keâer DeJemLee

(o) DelÙeefOekeâ GheYeesie keâer DeJemLee

Q. 17. What does the investment multiplier signify in

economics ?

(a) The ratio of the change in national income to

the change in investment

(b) The ratio of total consumption to total income

(c) The ratio of total investment to total savings

(d) The ratio of government tax revenue to

government spending

DeLe&MeeŒe ceW efveJesMe iegCekeâ keâe keäÙee cenlJe nw ?

(De) je°̂erÙe DeeÙe ceW heefjJele&ve keâe efveJesMe ceW heefjJele&ve mes Devegheele

(ye) kegâue GheYeesie keâe kegâue DeeÙe mes Devegheele

(me) kegâue efveJesMe keâe kegâue yeÛele mes Devegheele

(o) mejkeâejer keâj jepemJe keâe mejkeâejer KeÛe& mes Devegheele

Q. 18. If the marginal propensity to consume (MPC) is 0.6,

what will be the value of investment multiplier ?

(a) 4

(b) 1.5

(c) 5

(d) 2.5

Ùeefo meerceevle GheYeesie ØeJe=efòe (MPC) 0.6 nw lees iegCekeâ keâe

ceeve keäÙee nesiee ?

(De) 4

(ye) 1.5

(me) 5

(o) 2.5

Q. 19. What is the demographic dividend ?

(a) Large number of older population in a

country

(b) Higher economic growth rate due to large

working age population

(c) The financial support by government to

elderly population

(d) The benefit of migration to urban areas

pevemeebefKÙekeâerÙe ueeYe keäÙee nw ?

(De) osMe ceW DeefOekeâ mebKÙee ceW Je=æeW keâer pevemebKÙee
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(ye) yeÌ[er keâeÙe&Meerue pevemebKÙee nesves kesâ keâejCe GÛÛe mebJe=efæ oj

(me) mejkeâej Éeje Je=æ pevemebKÙee kesâ efueS efJeòeerÙe meneÙelee

(o) Menjer #es$e ceW ØeJeemeve keâe ueeYe

Q. 20. Who first proposed the Rational Expectations

Hypothesis ?

(a) Milton Friedman

(b) J.M. Keynes

(c) John F. Muth

(d) Robert M. Solow

megmebiele Dehes#eeSb heefjkeâuhevee henueer yeej efkeâmeves ØemleeefJele

efkeâÙee Lee ?

(De) efceušve øeâer[cewve

(ye) pes.Sce. kesâvme

(me) pee@ve SHeâ. cegLe

(o) jeyeš& Sce. meesuees

Q. 21. Which of the following is a characteristic of a

perfectly competitive market ?

(a) Single seller

(b) Product differentiation

(c) Free entry and exit

(d) Price control by firms

efvecveefueefKele ceW mes keâewve-mee hetCe& ØeefleÙeesefielee yeepeej keâer

efJeMes<elee nw ?

(De) Skeâue efJe›esâlee

(ye) Glheeo efJeYesove

(me) mJeleb$e ØeJesMe SJeb efvekeâeme

(o) HeâceeX Éeje cetuÙe efveÙeb$eCe

Q. 22. Which sector contributes the highest to India's

GDP ?

(a) Agriculture

(b) Industry

(c) Services

(d) Manufacturing

Yeejle kesâ mekeâue Iejsuet Glheeo ceW meyemes DeefOekeâ Ùeesieoeve efkeâme

#es$e keâe nw ?

(De) ke=âef<e

(ye) GÅeesie

(me) mesJee #es$e

(o) efJeefvecee&Ce

Q. 23. Who has been appointed as the chairman of 16th

Finance Commission in India ?
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(a) Ajay Narayan Jha

(b) Arvind Panagariya

(c) N.K. Singh

(d) Raghuram Rajan

Yeejle ceW 16JeW efJeòe DeeÙeesie kesâ DeOÙe#e kesâ ™he ceW efkeâmes efveÙegòeâ

efkeâÙee ieÙee nw ?

(De) DepeÙe veejeÙeCe Pee

(ye) DejefJevo heveieefÌ{Ùee

(me) Sve.kesâ. efmebn

(o) jIegjece jepeve

Q. 24. What is the key characteristic of simple random

sampling ?

(a) Participants are selected based on specific

traits

(b) The sample is determined by the

researcher's personal judgement

(c) The sample is selected based on case of

access

(d) Each member of population has equal

chance of being included in the sample

(16)

mejue ÙeeÂefÛÚkeâ ØeefleÛeÙeve keâer ØecegKe efJeMes<elee keäÙee nw ?

(De) ØeefleYeeefieÙeeW keâe ÛeÙeve efJeMes<e ue#eCeeW kesâ DeeOeej hej

efkeâÙee peelee nw

(ye) ØeefleoMe& MeesOekeâlee& kesâ JÙeefòeâiele efveCe&Ùe Éeje efveOee&efjle

neslee nw

(me) ØeefleoMe& hengBÛe keâer Deemeeveer kesâ DeeOeej hej Ûegvee peelee nw

(o) pevemebKÙee kesâ ØelÙeskeâ meomÙe keâes ØeefleoMe& ceW Meeefceue

nesves keâe meceeve DeJemej efceuelee nw

Q. 25. In monopolistic competition, firms maximise

profits by producing where :

(a) Price equals marginal cost

(b) Price exceeds marginal cost

(c) Marginal revenue equals marginal cost

(d) Total revenue equals total cost

SkeâeefOekeâejer ØeefleÙeesefielee ceW, HeâceX ueeYe keâes DeefOekeâlece keâjves

kesâ efueS Glheeove keâjleer nQ peneB :

(De) keâercele = meerceevle ueeiele

(ye) keâercele > meerceevle ueeiele

(me) meerceevle Deeiece = meerceevle ueeiele

(o) kegâue Deeiece = kegâue ueeiele
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